
function congdt  
n=0; 
hs=0; 
while 1 
    clc 
    n=n+1; 
    if (n>=2),disp('ket qua cong da thuc la: '),disp(hs), end 
    a=input('nhap da thuc, nhap so 0 de thoat: '); 
    if a==0,break,end 
    if n==1 
      hs=a;   
    else 
        if length(hs)>length(a) 
            hs=hs+[zeros(1,length(hs)-length(a)),a]; 
        elseif length(hs)<length(a) 
            hs=a+[zeros(1,length(a)-length(hs)),hs]; 
        else 
            hs=hs+a; 
        end 
    end  
end 
% cong N da thuc voi so dau vao nhap theo dang [x1 x2 x3 ....] 
%hoac [x1,x2,x3] 


